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R HRSESR ERRFRE

B SIFFR-FIEHRHNX

RIE: 2 BIEX (150 EAjE+250 EAiF)
BJ@E: 1h (20 mins + 40 mins)
TS FHAERTEK

PE: HD 9D

1. FERRURE A 38 (Academic) LIRERESIRIE. BURESFUEFAIGEAALH

EBr. REFAEESD, AMEENRTHENIEN. &4, RiCEEKBES.

2. FERRIEIE G 35 (General) RIEEXTBEZRF IR T RENEBR.

EEMNIF. EEEEEANEFNE, AFEUEREAE,

3. AEE{EVS.GE
AEE(E GEEH(E
gy Task 1 (MEX) HEAERHIE | Task 1 (UVMEX) FEm=HE

Task 2 (KEX) M=idie. WK | Task 2 (KEX) WRITIE.

IR DT MgHAR DT
AdiE 1h, 2/BIEX
FE Task 1 (JMEX): FF150i

Task 1 (JMEX): F>F250iF
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R HRSERR

ZEl=PERIE

D AT :

OSHESEN @ERFfE

GRICFEEEE OEESHFIENERE

A 2 Task 1 JMEX

4. A2 Task 1 /JMESCEREY :

B (Line Graph)

ﬁiﬁ HEiREl (Bar Chart)

HHRE (Pie Chart)
=& (Table)

A% Task.l ’J‘{’EI B #i2E (Diagram)

HER (Map)

RSB (Mixed Chart)

5. A 2 Task 1 /JMESRREUS =

Hre&El(Line graph) | fTZEEEBREIRMN, FERELIEFRIUEMARR
BT BRI,

t£1REl(Bar chart) | FEIRERREARIRRAORILL, iFEEMNALIRATCRAVER L,

{HIKEl(Pie chart) | FRIREREBREREESEDIILLAIRR, ERiER
KE. &IMEFER.

Fi&(Table) FERREASREE, RELHERR—EINED

H, BREDHFH ToERMA.
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BRI NIEER IR, AAEEEP IR, X

LR SEN

iEE (Diagram) | EFPRIENATEERERIA, ARNEEEPIIMNER, X

LR SEN

}thEl(Map) BESEHE—MEXAERERY 2~3 EtE, £t
RETEE AR .

B & (Mixed) HHERES, —REFHASEE,
DITMEREMNEF 2 BNER, BERE TR ER

BRZ BRI,

6. A MEXFIEREILIRES, RIEATIEEGIERITRERNS{ES
i%e

A 3 Task 2 KIEX
7. EBREEELSFEEMEHIEBRREE®:, efdttiky, EXEERX
HINTRYA HRVE F BT, o BEENMERIRK, BrIAHE

BEESIESHI 2. 36, BNFEHNEEERHITES.

8. A RAFNTHBERERZTFHINRES, ENFEMTERHE LS.

9. A 2§ Task 2 AfESCEREY :



R HRSERR

ZEl=PERIE

EEARIR Agree or Disagree

- .
IEE Argumentation / {4 Advantages and Disadvantages

AZ Task 2 K{EX

\ eI Discuss two opinions

[AF+EHEZE Problem and Solutions
£
wRER Report JRIA+EHE2E Causes(reasons) and Solutions

[RIH+$/I0ZE Causes (reasons) and Effects

S A1 Mixed problems

iR& Mixed
157kEFin1E) Wh-questions

10. A 2£ Task 2 AYESZRABYG R :
WGEE o [EEARE Agree or Disagree
(Argumentation) o {fifks Advantages and Disadvantages
e JHEXW AL Discuss two opinions and give your
own opinion
HREE o [ARR+EHEZE Problems and Solutions
(Report) o [RE+EIB3E Causes (reasons) and Solutions
o JRE+E/M3E Causes (reasons) and Effects
a3 (Mixed) o WICHEIHREE

1. EREFENTS, HIRESHNE RAEEArREEE, S25BEI1EE

R 70%AA. AR, BGCEMREENHIVERS, S5 NEER 80%

PLE, TiBGRAHEERD.

G 3 Task 1 JMEX

12. G 2§ Task 1 /JMESCERE :



R BESEERR ZEl=PERIE

G Task1/JMEX

13. G 2 Task 1 IMEXS{ERA:

(1) GHRIMEXBIEREARUBGEHF R, HEERBSSAE—MER,
EHEEENE R, FERMMIIFRFIH=AER, BHESFEESHA
NS, EIEREEREE, FERF—RINAIA,

(2) G HIMEXBEEIERIBEEMNSIENS D HIEEN. F1ER. ERUE,
B EREAERESIIT T OIEIFRE.

(3) NE—EERBERDR, TRBEERIIFHEK,

=. =EEhH

1. FHg: IAE®®, Y28, E5FR, I0FEA/IMEERE.
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2. i#{3 PART 1-4:
(1) FHAEERTEK (UMEX > 150; KIEX > 250)
(2) FHAELEZ (IME <200,; A{ES <300)

(3) EXEFLEFERFIL, BEEFHIE

ZR: Sifaic/a8BiE 3-5 oifiEnE, TREEEEILIELER.
WERE, MANE, Y2HEHEEN,

e I=¥
(1) IMESZ: AR-EFRSE, GHE-P=x
(2) KIEM: AZR+G 2K IR, ARG ZER

(3) FESHEEAF

—_— %Etlllb*I

OEIAE QWAEIZS COMEFH OHBMERNT
OHBIEAIREE  (OARMERL @OWHEN  @UhE
QOFHEE WSEEIR WFRER QRFEFET

M. FPtRE

HRERTEoINERE: RICESTEE (Lexical resource). 1EAZHMNIER

t (Grammatical range and accuracy). iE&R-51#% (Coherence and cohesion).
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B{E(ESSEINER (Task response),

i
ﬁ"
.I.H.
il
gt

(@) ]
N
$
.

uses a limited range of vocabulary (FEEIAER) |, but this
is minimally adequate for the task ({BEEAZHITBIEESY
R{KIRE)

« may make noticeable errors in spelling (3}t5/ta1a581=AE)
and/or word formation that may cause some difficulty for the

reader (I&ERkISEIEEME)

6 9 + uses an adequate range of vocabulary for the task (Ef5H
=)

+ attempts to use less common vocabulary (iXEERAER
iAC)  but with some inaccuracy (1B, BRA/ER)

« makes some errors in spelling and/or word formation (35
IfF1EE%EIR) |, but they do notimpede communication ({8,

AREAZA)
» uses a sufficient range of vocabulary to allow some flexibility

and precision (EERNC, AILRIEMERERM)

+ uses less common lexical items ({ERAEWANEL) with
some awareness of style and collocation (XHE{K, 1&EHE—
EHTAIR)

+ may produce occasional errors ({B/RHEINFEIR) in word

choice, spelling and/or word formation
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(1) \BL E—aiCFEN: &L, BXER, AEELC

(2) WICHE—FRAERY: H51E; BECER,; BENKREE: &H
AEEAE TS RE P EARRINER, BIERRRXES

2. \BESHIERERTE

5%  uses only a limited range of structures (BFRANEILLEEN)

+ attempts complex sentences (=idfEERAEZYA]) but these
tend to be less accurate than simple sentences (AN
EEa))

« may make frequent grammatical errors (& HIEE/ARR
o

fFS551=) and punctuation may be faulty; errors can cause

some difficulty for the reader (GE&RESHEREME)

69 + uses a mix of simple and complex sentence forms (%&f{E
FHEIEf IS %9)

« makes some errors in grammar and punctuation (iE}EFiR
RS HE—4EIR)  but they rarely reduce communication

(18, ROFMmZI)

79 + uses a variety of complex structures (IZFARFHEZHNE]
1)

« produces frequent error-free sentences (Z¥ A FEHHT
=)

» has good control of grammar and punctuation (XHE;EFIIR
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el = —

RFSERKYF) but may make a few errors (1B, BNF

Hix)

(1) BRGNS

(2) BEMRRLER

3. &R 5%

5

&

uses only a limited range of structures (BRANIEIEZHS)
attempts complex sentences (=i{FERAEZvA]) but these
tend to be less accurate than simple sentences (/ERBEAUN
EEa))

may make frequent grammatical errors (Z2EHINEE/MFA
o

fFS581=) and punctuation may be faulty; errors can cause

some difficulty for the reader (G&RESHEREME)

uses a mix of simple and complex sentence forms (ZZ&1E
FERMERa)

makes some errors in grammar and punctuation (i&/EFIFR
RFEFG—L4EIR) but they rarely reduce communication

(18, ROFIEIZIR)

uses a variety of complex structures (IZFBEFIEZANEELE
)
produces frequent error-free sentences (ZEEFHERTCIR)

has good control of grammar and punctuation (XhE;EFIFR
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RTSERERYEF) butmay make afewerrors (12, B/0MFsE

%)

(1) RUMTETE, REE D RSN

(2) IZIEER)ERREHS

(3) IEFRERIENMER, BRES

(4)

4. S{EESMOR

eSiE, TR, BEEM

5

o

addresses the task only partially ({XEIN 720 EEES) ;
the format may be inappropriate in places (FLtthFHEA
IEE)

expresses a position but the development is not always clear

and there may be no conclusions drawn (FRIAT— AL,

(BRACIDIERERG—RiEH, BAseR=%10)
presents some main ideas but these are limited and not

sufficiently developed (iIEmR+2BR, BREETDREFCIE) ;

there may be irrelevant detail (A~#8x)

&

addresses all parts of the task (BN ZZPHBIEES)

although some parts may be more fully covered than others
({ERLE SRS sEtL B3R B AT )
presents a relevant position (32HYIREAIM ) although the

conclusions may become unclear or repetitive (1B, 5168

RIRNBIES)

presents relevant main ideas but some may be inadequately
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Zrik FEil=#ERE

developed/unclear (1257 2MBXNFECR, (B, EEig

FRPJRERRETE 0 BRI TIOUER A ELBHT)

addresses all parts of the task (EIN&EEBDEIEES)
presents a clear position throughout the response (Y}A&ZRZEI
iEMTEIER)

presents, extends and supports mainideas (2. KEFE
ICRFHFMEHFITICUE) |, but there may be a tendency to
overgeneralise and/or supporting ideas may lack focus. ({8,

B HINT F—mmieARE R/ E RERZ BB R

(1) FEXRERE, RIZEREEE

(2) RHSNEVIERINR, BEIMRHITRDICUE, IREERAERAST

(3) BRNEMRABWER

EESIEIENMESIRER TS :

WICEERE EXZHE  EB56HE BIEEsh | 2659

5
KAET 6
IMEST 6

BetimiE Rz
5 7 6 6
6 5 6 5.75

(1) KVESCFRGEEAI:  2/3 (0.666)

(2) IMESZRREEFI:  1/3 (0.333)

54 : 6*0.666+5.75*0.333=5.88
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